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(1-3) : 

Racing

Game Day

Kho Kho Monday

Kabaddi Tuesday

Archery Wednesday

Volley Ball Thursday

Body Building Friday

Saturday

Long Jumping Sunday



1. (3) 2. (5) 3. (3)

(4-8) :

(White) (Black) (Green) (Grey) (Yellow)

(Pink) (Brown) (Blue) (Red) (Orange)

ABC D E

MNO P Q

4. (2) 5. (1) 6. (5)
7. (3) 8. (2)
(9-11) :

Re
Table

Cricket Carom Gender Status lation
Tennis

P F Unmarried

Q M Brother of R

Married
R F

toT

S F Unmarried

Husband wife
T M married

T R

  

 

 

  


 









9. (4) 10. (2) 11. (3)
(12-16) :

12. (2)

S

H

T

G

1 m

1 m

1 m

13. (4)

14. (1)

M

N

C

A

1 m

1 m

1 m

15. (4)

16. (1)

G

F

M

K
1 m

1 m

SBI PO PHASE-I - 92 (SOLUTION)

(17-22) :-

Floor Subject Person

7 Biology Q

6 G.A P

5 Art U

4 Chemistry S

3 Physics T

2 Geography V

1 History R

17. (4) 18. (2) 19. (3)
20. (3) 21. (3) 22. (2)
(23-27) :

23. (2)

Person

dynamic

Cunning

Rude

I. False II. True
III. False IV. False
Only II follows

24. (5)
glass

Roads
× Stick Pens

I. False II. True
III. False IV. True
Only II and IV follows

25. (5) Car × Scooter

drum
Flute

I. True II. True
III. True IV. False
Only I, II and III follows

26. (4) Cam
era

Picture

Cover

Rea
lity

I. True II. False
III. True IV. False
Only I and III follows
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27. (4) Si
lve

r
Gold

Pla
tin

um

watc
h

Role
x

I. True II. False
III. True IV. False
Only I and III follows

(28-31)  :

               E+ F
–

C
– D– G+

A
–

B
+

  
4 cm

5 cm

9 cm

E
B

G
D

A F

C

4 m

 3 m

1 m

1 m

2 m

28. (4) 29. (4) 30. (3)
31. (3)
(32-33):
Shadab > Ramesh > Vikash > Khalid > Rohan >
Lakhan
32. (5) 33. (1)

(34-35) : 

CFB

G

H C E

A

34. (4) 35. (3)

MATHS

(36-40) :

36. (1)
169

45
 × 

125

208
 ÷ 

5

16
 + 

7

9

= 
169 125

45 208
  × 

16

5
 + 

7

9

= 
65

9
 + 

7

9
 = 

2

9


 = 8

37. (1)
3

8
 of 168  × 15 ÷ 5 + ?  = 549 ÷ 9 + 235

 
3

8
 × 168 × 3 + ?  = 61 + 235

 189 + ?  = 296

 ?  = 296 – 189 = 107

? = 107 × 107 = 11449

38. (2) 1456 ÷ 16 × 14 + 22 =  
2

?

 91 × 14 + 22 =  
2

?

 1296 =  
2

?

? = 36
39. (1) (0.64)4 ÷ (0.512)3 × (0.8)4 = (0.8)? + 3

 (0.8)8 ÷ (0.8)9 × (0.8)4 = (0.8)? + 3

 ? + 3 = 8 – 9 + 4
 ? + 3 = 3
 ? = 0

40. (1)  
326 22 2 – 6 28  

= 36 11 – 216 28   = 208 14.42

(41-45) :
41. (3) No. of qualified candidates in the year

1995 = 900 × 
64

100
 = 576

No. of male candidates who qualified in
the year 1995 = 576 – 176 = 400
 Required ratio = 400 : 176
= 25 : 11

42. (4) No. of qualified candidates in the year
1996

= 700 × 
140

100
 × 

25

100
 = 245

43. (3) Let the appeared candidates in the year
1992 = 500
and qualified candidates in the year 1992
= 400
No. of qualified female candidate

= 
400

3
8

  = 150

 Required% = 
150

100
500

 
  
 

% = 30%

44. (4) No. of qualified candidates in the year

1994 = 
72

14
4

 
  
 

 = 252

 Total no. of appeared candidates in the

year 1994 = 
252

100
42

 
  
 

% = 600

45. (2) No. of qualified candidates in the year

1993 = 480 × 
60

100
 = 288

 No. of qualified candidates in the year
1991 = 249 × 2 – 288 = 210

 Required% = 
210

100
700

 
  
 

% = 30%
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(46-50) :

46. (2) The pattern of the number series is :

732 – 3 = 729 = 93

1244 – 732 = 512 = 83

1587 – 1244 = 343 = 73

1803 – 1587 = 216 = 63

1928 – 1803 = 125 = 53

 ? = 1928 + 43 = 1928 + 64 = 1992

47. (4) The pattern of the number series is :

16 × 1.5 = 24

24 × 2.5 = 60

60 × 3.5 = 210

210 × 4.5 = 945

48. (1) The pattern of the number series is :

(45030   5) – 6 = 9000
(9000   5) – 5 = 1795
(1795   5) – 4 = 355
(355   5) – 3 = 68
(68   5) – 2 = 13.6 – 2 = 11.6

49. (1) The pattern of the number series is :
5 × 1 + 1 × 7 = 12
12 × 2 + 2 × 6 = 36
36 × 3 + 3 × 5 = 123
123 × 4 + 4 × 4 = 492 + 16 = 508
508 × 5 + 5 × 3 = 2540 + 15 = 2555

50. (4) The pattern of the number series is :
8 × 0.5 + 7 = 4 + 7=11
11 × 1 + 6 = 17
17 × 1.5 + 5 = 25.5 + 5 = 30.5
30.5 × 2 + 4 = 61 + 4 = 65

(51-55) :
51. (4) Simple interest

= 
35500 15 2

100

 
= ` 10650

Principal for another investment
= 35500 + 10650 = ̀  46150

 C.I. = 46150 

3
20

1 1
100

  
   

   

= 46150 

3
6

1
5

  
  

   

= 46150 
216 125

125

 
 
 

= 
46150 91

125



= 33597.20
Total interest earned
= ` (10650 + 33597.20) = ̀  44247.20

52. (1) Percentage of milk in the first mixture

= 
5

6
×100 = 

250

3
%

Percentage of milk in second mixture

=
7

9
× 100 = 

700

9
%

Using Alligation method,

80

250
3

700
9

10
3

20
9

So, required ratio = 
20

9
:
10

3
= 2 : 3

53. (1) Let the two parts be ` x and ` (1301 – x)

7
4

1
100

x
 
  
 

 = (1301 – x) ×

9
4

1
100

 
  
 

  1301 – x

x
 = 

2
4

1
100

 
  
 

 625x = 676(1301 – x)

1301 x = 676 × 1301

 x = ` 676

So, the two parts are ` 676 and

(1301 – 676) = ` 625

54. (3)
1 1 1

–
20 30 t

 
  
 

 × 60 = –1

'–1' is taken because the work is
negative. T is the time taken by the
waste pipe to empty the tank alone. We
will t = 10
So, capacity = 10 × 8 = 80 litres

55. (4) Ratio of profit between Sunil, Manish and
Bhupesh
= 30000 × 24 : 120000 × 18 : 180000 × 12
= 1 : 3 : 3
 Share of Manish in the profit

= 
210000

7
 × 3 = ̀  90,000

(56-60) :
56. (3) Required %

 =  
600

100 %
700 400 1200 1200 600 900 900

 
 

       

= 
600

100 %
5900

 
  
 

 = 10.16%  11%

57. (5) In 2004 = 0%
In 2005 = No increase
In 2002 = No increase
In 2007 = 0%

58. (2) Total sales of Cannon printer in the year
2001, 2002 and 2005

= 600 + 900 + 1100 = 2600

Total sales of Cannon printer in all the
years
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= 600 + 900 + 300 + 600 + 1100 + 1000 +
1100 = 5600

 Required % = 
2600

100 %
5600

 
  
 

= 46.42%  46%
59. (5) Total sales of HP printer in all the years

= 700 + 400 + 1200 + 1200 + 600 + 900 +
900 = 5900
and total sales of Canon printer in all the
year = 5600
 Required% = 5900 : 5600 = 59:56

60. (1) The sale of HP Printer from the Privious
year in

2003 = 
1200 – 400

100 %
400

 
  
 

=200% more

2005 = 
1200 – 600

100 %
1200

 
  
 

= 50% less

2002 = 
700 – 400

100 %
700

 
  
 

= 42.85% less

2004 = 
1200 –1200

100 %
1200

 
  
 

 = 0%

 Required answer is 2003.
(61-65) :

61. (1) Required no. of ways = 4
4C  × 6

1C  + 3
3C  ×

4
2C  = 1 × 6 + 1 × 6 = 6 + 6 = 12

62. (3) Required no. of ways = 3
2C  × 6

3C  = 3 × 20

= 60
63. (1) Mixture of acid and water = 60 litres

Volume of water in the mixture = 10% of
60 = 6 litres
Let 'x' litres of water be added in the
mixture.
(x + 6) = 25% of (x + 60)

or, x + 6 =
1

4
 (x + 60)

or, 4x + 24 = x + 60
or, 4x – x = 60 – 24 = 36
or, 3x = 36
x = 12 litres

64. (5) Let both the trains travel for x hrs.
A/Q,
60x – 45x = 200  15x = 200

 x = 
200

15

 Distane between Punjab and Delhi

= 
200

15
 × (60 + 45) = 

200

15
 × 105 = 1400 k.m

65. (5) Read ` 205 as ` 2.5

     

A B

CD

18 m

17 m3 m

3
 m

I
J

K
L

G H

E F

Area of path

= (18 × 3 + 17 × 3) – (3 × 3)

= 54 + 51 – 9 = 96 sq. m

 total cost of paving the path at the rate of
2.5/sq. m= 96 × 2.5 = ̀  240

(66-70) :

66. (5) I. 8x2 – 3y = 38

 8x2 – 3y – 38 = 0

 8x2 + 16x – 19x – 38 = 0

 8x (x + 2) – 19(x + 2) = 0

 (8x – 19) (x + 2) = 0

 x = 
19

8
, – 2

II. 6y2 + 34 = 29y

 6y2 – 29y + 34 = 0

 6y2 – 12y – 17y + 34 = 0

 6y (y – 2) – 17(y – 2) = 0

 (6y – 17) (y – 2) = 0

 y = 
17

6
, 2

67. (3) I. 7x2 + 15x – 18 = 0

 7x2 + 21x – 6x – 18 = 0

 7x(x + 3) – 6(x + 3) = 0

 (7x – 6) (x + 3) = 0

 x = 
6

7
, – 3

II. 2y2 – 13y + 21 = 0

 2y2 – 6y – 7y + 21 = 0

 2y(y – 3) – 7(y – 3) = 0

 (2y – 7) (y – 3) = 0

 y = 
7

2
, 3

Clearly , x < y

68. (1) I. 3x2 – 15x + 18 = 0

 x2 – 5x + 6 = 0

 x2 – 2x – 3x + 6 = 0

 x(x – 2) – 3(x – 2) = 0

 (x – 3) (x – 2) = 0

 x = 3, 2
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II. y2 + 13y = – 42
 y2 + 13y + 42 = 0
 y2 + 7y + 6y + 42 = 0
 y(y + 7) + 6(y + 7) = 0
 (y + 6) (y + 7) = 0
 y = – 6, –7
Clearly , x > y

69. (3) 2x + 3y = 13                               .......... (i)
4x + y = 6 .......... (ii)
Now, equation (i) × 2 – equation (ii),
 4x + 6y – 4x – y = 26 – 6
5y = 20 y = 4
Put the value of y in equation (ii),
4x + 4 = 6
4x = 2

x = 
1

2

Clearly , x < y

70. (5) I.  x2 = 529
 x = +23, –23
II. y2 + 241 = 770
y2 = 770 – 241
y2 = 529

y = + 23, – 23

ENGLISH LANGUAGE
91. (1) ‘witness’ repalce with ‘witnessed’.

92. (3) ‘added’ replace with ‘add’.

93. (1) ‘had’ replace with ‘has’.

94. (1) ‘protest’ replace with ‘pratests’.

95. (5) No error.

96. (1) ‘Being that’ Replace with ‘since’.

97. (5) No error.

98. (5) No error.

99. (1) ‘are trying’ replace with ‘have been

trying’.

100. (3) ‘are’ replace with ‘have been’.

VOCABULARIES

Words Meaning in English Meaning in Hindi

Clandestine Keep secret xqIr

Defunct no large existing/obsolete er̀izk;@vfozQ;k'khy

Dump To store at an unwanted place something that is not vokafNr phtksa dks fdlh
iQkyrw txg ij ,df=kr
djuk

Lethary a lack of energy and enthusiasm lqLrh

Reconnasissance Investigation, surveillance fuxjkuh

Regime Especially an authoritarian one/system iz.kkyh

Indigenous Native ns'kh

Pile up An accumulation of a specified thing <s+j yxkuk

Deploy To post/move (Troops) into position for miltary action rSukr djuk

Proliferation rapid increase in number la[;k esa o`f¼

Doctrine Ideology fl¼kar

Ally To make a group with lg;ksx djuk

Curtail Reduce in extent or quantity dVkSrh djuk

Explotation Toment/The action of treating someone unfairly in 'kks"k.k djuk
order to benefit from their work

Devastation Great destruction or damage fouk'k@rckgh

Aggression hostile/voilent behaviour mxz O;ogkj

Assertion Strong statement tksjnkj dFku

Ignorance Lack of knowledge vKkurk
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Note:- If your opinion differs regarding any answer, please message the mock
test and question number to 8860330003

Note:- If you face any problem regarding result or marks scored, please
contact  9313111777

1. (3)

2. (5)

3. (3)

4. (2)

5. (1)

6. (5)

7. (3)

8. (2)

9. (4)

10. (2)

11. (3)

12. (2)

13. (4)

14. (1)

15. (4)

16. (1)

17. (4)

18. (2)

19. (3)

20. (3)

21. (3)

22. (2)

23. (2)

24. (5)

25. (5)

26. (4)

27. (4)

28. (4)

29. (4)

30. (3)

31. (3)

32. (5)

33. (1)

34. (4)

35. (3)

36. (1)

37. (1)

38. (2)

39. (1)

40. (1)

41. (3)

42. (4)

43. (3)

44. (4)

45. (2)

46. (2)

47. (4)

48. (1)

49. (1)

50. (4)

51. (4)

52. (1)

53. (1)

54. (3)

55. (4)

56. (3)

57. (5)

58. (2)

59. (5)

60. (1)

61. (1)

62. (3)

63. (1)

64. (5)

65. (5)

66. (5)

67. (3)

68. (1)

69. (3)

70. (5)

71. (5)

72. (2)

73. (3)

74. (5)

75. (3)

SBI PO PHASE-I - 92 (ANSWER KEY)

76. (1)

77. (1)

78. (4)

79. (4)

80. (2)

81. (2)

82. (4)

83. (4)

84. (2)

85. (5)

86. (3)

87. (1)

88. (4)

89. (4)

90. (2)

91. (1)

92. (3)

93. (1)

94. (1)

95. (5)

96. (1)

97. (5)

98. (5)

99. (1)

100. (3)


